

Gen. Math. Notes, Vol. 2, No. 2, February 2011, pp.47-57 ISSN 2219-7184; Copyright ©ICSRS Publication, 2011 www.i-csrs.org
Available free online at http://www.geman.in

Three-step Fixed Point Iteration for Multivalued Mapping with Errors in Banach Spaces

Zhanfei Zuo¹ and Feixiang Chen²

¹Department of Mathematics and Statistics, Chongqing Three Gorges University Wanzhou 404000,P.R. China E-mail: zuozhanfei@139.com ²Department of Mathematics and Statistics, Chongqing Three Gorges University Wanzhou 404000,P.R. China E-mail: cfx2002@126.com

(Received:26-10-10/Accepted:10-11-10)

Abstract

In this paper, we consider the convergence of three-step fixed point iterative processes for multivalued nonexpansive mapping with errors, under some different conditions, the sequences of three-step fixed point iterates strongly or weakly converge to a fixed point of the multivalued nonexpansive mapping. Our results extend and improve some recent results.

Keywords: Multivalued nonexpansive mapping, Fixed points, Uniform convex, Opial's condition.

1 Introduction

Let X be a Banach space and K a nonempty subset of X. We shall denote by 2^X the family of all subsets of X, CB(X) the family of all nonempty closed bounded subsets of X and denote C(X) by the family of nonempty compact subsets of X. A multivalued mapping $T: K \to 2^X$ is said to be nonexpansive (resp., contractive) if

$$H(Tx, Ty) \le ||x - y||, \ x, y \in K,$$

$$(resp, H(Tx, Ty) \le k||x - y||, \ for \ some \ k \in (0, 1)).$$

where $H(\cdot,\cdot)$ denotes the Hausdorff metric on CB(X) defined by

$$H(A,B) := \max \{ \sup_{x \in A} \inf_{y \in B} \|x - y\|, \sup_{y \in B} \inf_{x \in A} \|x - y\| \}, A, B \in CB(X).$$

A point x is called a fixed point of T if $x \in Tx$.

Since Banach's Contraction Mapping Principle was extended nicely to multivalued mappings by Nadler in 1969 (see [7]), many authors have studied the fixed point theory for multivalued mappings (e.g. see[1, 3, 4, 5, 14]). For single-valued nonexpansive mappings, Mann [6] and Ishikawa [2] respectively introduced a new iteration procedure for approximating its fixed point in a Banach space as follows:

$$x_{n+1} = (1 - \alpha_n)x_n + \alpha_n T x_n, \tag{1}$$

and

$$x_{n+1} = (1 - \alpha_n)x_n + \alpha_n y_n, y_n = (1 - b_n)x_n + b_n T x_n,$$
(2)

where $\{\alpha_n\}$ and $\{b_n\}$ are sequences in [0,1]. Obviously, Mann iteration is a special case of Ishikawa iteration. Recently Song in [11] and [12] introduce the following algorithms for multivalued nonexpansive mapping,

$$x_{n+1} = (1 - \alpha_n)x_n + \alpha_n s_n, \tag{3}$$

where $s_n \in Tx_n$, such that $||s_{n+1} - s_n|| \le H(Tx_{n+1}, Tx_n)$.

$$x_{n+1} = (1 - \alpha_n)x_n + \alpha_n r_n, y_n = (1 - b_n)x_n + b_n s_n,$$
(4)

where $||s_n-r_n|| \leq H(Tx_n, Ty_n)$ and $||s_{n+1}-r_n|| \leq H(Tx_{n+1}, Ty_n)$ for $s_n \in Tx_n$ and $r_n \in Ty_n$. He show some strongly or weakly convergence results of the above iterates for multivalued nonexpansive mapping T under some appropriate conditions. In this paper, we introduced the following algorithm, which can be generalized as the above algorithms (3), (4):

Algorithm. For a given $x_0 \in K$ and $s_0 \in Tx_0$. Let

$$z_0 = (1 - a_0 - \gamma_0)x_0 + a_0s_0 + \gamma_0u_0.$$

There exists $t_0 \in Tz_0$ such that $||t_0 - s_0|| \le H(Tz_0, Tx_0)$. Let

$$y_0 = (1 - b_0 - c_0 - \mu_0)x_0 + b_0t_0 + c_0s_0 + \mu_0v_0.$$

There exists $r_0 \in Ty_0$ such that $||r_0 - t_0|| \le H(Ty_0, Tz_0)$ and $||r_0 - s_0|| \le H(Ty_0, Tx_0)$. Let

$$x_1 = (1 - \alpha_0 - \beta_0 - \lambda_0)x_0 + \alpha_0 r_0 + \beta_0 t_0 + \lambda_0 w_0.$$

There exists $s_1 \in Tx_1$ such that $||s_1 - r_0|| \le H(Tx_1, Ty_0)$ and $||s_1 - t_0|| \le H(Tx_1, Tz_0)$. Inductively, we can get the sequence $\{x_n\}$ as follows:

$$z_{n} = (1 - a_{n} - \gamma_{n})x_{n} + a_{n}s_{n} + \gamma_{n}u_{n}$$

$$y_{n} = (1 - b_{n} - c_{n} - \mu_{n})x_{n} + b_{n}t_{n} + c_{n}s_{n} + \mu_{n}v_{n}$$

$$x_{n+1} = (1 - \alpha_{n} - \beta_{n} - \lambda_{n})x_{n} + \alpha_{n}r_{n} + \beta_{n}t_{n} + \lambda_{n}w_{n},$$
(5)

where $\{a_n\}, \{b_n\}, \{c_n\}, \{\alpha_n\}, \{\beta_n\}, \{\gamma_n\}, \{\mu_n\}, \{\lambda_n\}$ are appropriate sequence in [0,1] and $\{u_n\}, \{v_n\}$, and $\{w_n\}$ are bounded sequence in K, furthermore $s_n \in Tx_n, t_n \in Tz_n, r_n \in Ty_n$ such that $||t_n - s_n|| \leq H(Tz_n, Tx_n), ||r_n - t_n|| \leq H(Ty_n, Tz_n), ||r_n - s_n|| \leq H(Ty_n, Tx_n), ||s_{n+1} - r_n|| \leq H(Tx_{n+1}, Ty_n)$ and $||s_{n+1} - t_n|| \leq H(Tx_{n+1}, Tz_n)$. The iterative scheme (5) is called the three-step multivalued iterative scheme with errors. If $a_n = \gamma_n = c_n = \mu_n = \beta_n = \lambda_n \equiv 0$, then iterative scheme (5) reduces to (4). If $a_n = \gamma_n = b_n = c_n = \mu_n = \beta_n = \lambda_n \equiv 0$ or $c_n = \beta_n = \gamma_n = \mu_n = \lambda_n \equiv 0$, we also have the following Algorithms:

$$z_{n} = (1 - a_{n})x_{n} + a_{n}s_{n}$$

$$y_{n} = (1 - b_{n} - c_{n})x_{n} + b_{n}t_{n} + c_{n}s_{n}$$

$$x_{n+1} = (1 - \alpha_{n} - \beta_{n})x_{n} + \alpha_{n}r_{n} + \beta_{n}t_{n};$$
(6)

$$z_n = (1 - a_n)x_n + a_n s_n y_n = (1 - b_n)x_n + b_n t_n x_{n+1} = (1 - \alpha_n)x_n + \alpha_n r_n;$$
(7)

We consider the convergence of iterative scheme (5) for multivalued nonexpansive mapping with errors, under some different conditions, we show that the sequences of iterative scheme (5) strongly or weakly converge to a fixed point of the multivalued nonexpansive mapping T. In particular, we extend some results in [12], and also give some new results are different from the [11]. The following definition was introduced in [10].

Definition 1.1 A multivalued mapping $T: K \to CB(K)$ is said to satisfy Condition (A) if there is a nondecreasing function $f: [0, \infty) \to [0, \infty)$ with f(0) = 0, f(x) > 0 for $x \in (0, \infty)$ such that

$$d(x,Tx) \ge f(d(x,F(T)) \text{ for all } x \in K.$$

Where $F(T) \neq \emptyset$ is the fixed point set of the multivalued mapping T. From now on, F(T) stands for the fixed point set of the multivalued mapping T.

2 Preliminaries

A Banach space X is said to be satisfy Opial's condition [9] if, for any sequence $\{x_n\}$ in X, $x_n \rightharpoonup x(n \to \infty)$ implies the following inequality

$$\limsup_{n \to \infty} \|x_n - x\| < \limsup_{n \to \infty} \|x_n - y\|$$

for all $y \in X$ with $y \neq x$. We know that Hilbert spaces and $l_p(1 have the Opial's condition.$

The following Lemmas will be useful in this paper.

Lemma 2.1 (see [13]) Let $\{a_n\}$, $\{b_n\}$ and $\{\delta_n\}$ be sequence of nonnegative real numbers satisfying the inequality

$$a_{n+1} \le (1 + \delta_n)a_n + b_n, \ \forall n = 0, 1, 2, \dots$$

If $\sum_{n=0}^{\infty} \delta_n < \infty$ and $\sum_{n=0}^{\infty} b_n < \infty$, then

- (1) $\lim_{n\to\infty} a_n$ exists.
- (2) $\lim_{n\to\infty} a_n = 0$ whenever $\liminf_{n\to\infty} a_n = 0$.

Lemma 2.2 (see [8]) Let X be a uniformly convex Banach space and $B_r = \{x \in X : ||x|| \le r\}, r > 0$. Then there exists a continuous, strictly increasing, and convex function $g : [0, \infty) \to [0, \infty), g(0) = 0$, such that

$$\|\alpha x + \beta y + \mu z + \lambda w\|^2 \le \alpha \|x\|^2 + \beta \|y\|^2 + \mu \|z\|^2 + \lambda \|w\|^2 - \alpha \beta g(\|x - y\|),$$

for all $x, y, z, w \in B_r$, and all $\alpha, \beta, \mu, \lambda \in [0, 1]$ with $\alpha + \beta + \mu + \lambda = 1.$

3 Main results

Lemma 3.1 Let X be a real Banach space and K be a nonempty closed, bounded and convex subset of X. Let $T: K \to CB(K)$ be a multivalued nonexpansive mapping for which $F(T) \neq \emptyset$ and for which $T(p) = \{p\}$ for any fixed point $p \in F(T)$. Let $\{a_n\}, \{b_n\}, \{c_n\}, \{\alpha_n\}, \{\beta_n\}, \{\gamma_n\}, \{\mu_n\} \text{ and } \{\lambda_n\} \text{ be real sequences in } [0,1] \text{ such that } a_n + \gamma_n, b_n + c_n + \mu_n \text{ and } \alpha_n + \beta_n + \lambda_n \text{ are in } [0,1] \text{ for all } n \geq 0, \text{ and } \sum_{n=0}^{\infty} \gamma_n < \infty, \sum_{n=0}^{\infty} \mu_n < \infty, \sum_{n=0}^{\infty} \lambda_n < \infty, \text{ and } \{u_n\}, \{v_n\}, \text{ and } \{w_n\} \text{ be the bounded sequence in } K. \text{ For a given } x_0 \in K, \text{ let } \{x_n\}, \{y_n\}, \text{ and } \{z_n\} \text{ be the sequence defined as in (5), then we have the following conclusions:}$

$$\lim_{n} ||x_n - p|| \quad exists \ for \ any \ p \in F(T)$$

Proof. Let $p \in F(T)$, from iterative scheme (5), note that $T(p) = \{p\}$ for any fixed point $p \in F(T)$, we have

$$||z_{n} - p|| \leq (1 - a_{n} - \gamma_{n})||x_{n} - p|| + a_{n}||s_{n} - p|| + \gamma_{n}||u_{n} - p||$$

$$= (1 - a_{n} - \gamma_{n})||x_{n} - p|| + a_{n}d(s_{n}, Tp) + \gamma_{n}||u_{n} - p||$$

$$\leq (1 - a_{n} - \gamma_{n})||x_{n} - p|| + a_{n}H(Tx_{n}, Tp) + \gamma_{n}||u_{n} - p||$$

$$\leq (1 - \gamma_{n})||x_{n} - p|| + \gamma_{n}||u_{n} - p||,$$

$$||y_{n} - p|| \leq (1 - b_{n} - c_{n} - \mu_{n})||x_{n} - p|| + b_{n}||t_{n} - p|| + c_{n}||s_{n} - p||$$

$$+ \mu_{n}||v_{n} - p||$$

$$= (1 - b_{n} - c_{n} - \mu_{n})||x_{n} - p|| + b_{n}d(t_{n}, Tp) + c_{n}d(s_{n}, Tp)$$

$$+ \mu_{n}||v_{n} - p||$$

$$\leq (1 - b_{n} - c_{n} - \mu_{n})||x_{n} - p|| + b_{n}H(Tz_{n}, Tp) + c_{n}H(Tx_{n}, Tp)$$

$$+ \mu_{n}||v_{n} - p||$$

$$\leq (1 - b_{n} - \mu_{n})||x_{n} - p|| + b_{n}||z_{n} - p|| + \mu_{n}||v_{n} - p||,$$

and so we have

$$||x_{n+1} - p|| \leq (1 - \alpha_n - \beta_n - \lambda_n)||x_n - p|| + \alpha_n||r_n - p|| + \beta_n||t_n - p|| + \lambda_n||w_n - p||$$

$$\leq (1 - \alpha_n - \beta_n - \lambda_n)||x_n - p|| + \alpha_n H(Ty_n, Tp) + \beta_n H(Tz_n, Tp) + \lambda_n||w_n - p||$$

$$\leq (1 - \alpha_n - \beta_n - \lambda_n)||x_n - p|| + \alpha_n||y_n - p||$$

$$+ \beta_n||z_n - p|| + \lambda_n||w_n - p||$$

$$\leq (1 - \alpha_n - \beta_n - \lambda_n)||x_n - p|| + \alpha_n[(1 - b_n - \mu_n)||x_n - p||$$

$$+ b_n||z_n - p|| + \mu_n||v_n - p||] + \beta_n||z_n - p|| + \lambda_n||w_n - p||$$

$$\leq (1 - \alpha_n - \beta_n - \lambda_n)||x_n - p|| + \alpha_n(1 - b_n - \mu_n)||x_n - p||$$

$$+ \alpha_n b_n(1 - \gamma_n)||x_n - p|| + \alpha_n b_n \gamma_n||u_n - p|| + \alpha_n \mu_n||v_n - p||$$

$$+ \beta_n(1 - \gamma_n)||x_n - p|| + \beta_n \gamma_n||u_n - p|| + \lambda_n||w_n - p||$$

$$+ \beta_n(1 - \gamma_n)||x_n - p|| + \beta_n \gamma_n||u_n - p|| + \lambda_n||w_n - p||$$

$$+ (\beta_n \gamma_n + \alpha_n b_n \gamma_n)||u_n - p|| + \alpha_n \mu_n||v_n - p|| + \lambda_n||w_n - p||$$

$$\leq ||x_n - p|| + \gamma_n(\beta_n + \alpha_n b_n)||u_n - p|| + \alpha_n \mu_n||v_n - p|| + \lambda_n||w_n - p||$$

$$\leq ||x_n - p|| + 2\gamma_n||u_n - p|| + \mu_n||v_n - p|| + \lambda_n||w_n - p||$$

From the assumption we have

$$||x_{n+1} - p|| \le ||x_n - p|| + L\gamma_n + M\mu_n + N\lambda_n,$$

where $L = \sup\{2||u_n - p||, n \ge 0\}$, $M = \sup\{||v_n - p||, n \ge 0\}$ and $N = \sup\{||w_n - p||, n \ge 0\}$. If we let $K = \max\{L, M, N\}$ then we get that

$$||x_{n+1} - p|| \le ||x_n - p|| + K(\gamma_n + \mu_n + \lambda_n).$$
 (8)

It follows from Lemma 2.1 that $\lim_n ||x_n - p||$ exists for any $p \in F(T)$.

Lemma 3.2 Let X be a uniformly convex Banach space and K be a nonempty closed, bounded and convex subset of X. Let $T: K \to CB(K)$ be a multivalued nonexpansive mapping for which $F(T) \neq \emptyset$ and for which $T(p) = \{p\}$ for any fixed point $p \in F(T)$. Let $\{a_n\}, \{b_n\}, \{c_n\}, \{\alpha_n\}, \{\beta_n\}, \{\gamma_n\}, \{\mu_n\} \text{ and } \{\lambda_n\}$ be real sequences in [0,1] such that $a_n + \gamma_n, b_n + c_n + \mu_n$ and $\alpha_n + \beta_n + \lambda_n$ are in [0,1] for all $n \geq 0$, and $\sum_{n=0}^{\infty} \gamma_n < \infty, \sum_{n=0}^{\infty} \mu_n < \infty, \sum_{n=0}^{\infty} \lambda_n < \infty$, and $\{u_n\}, \{v_n\}, \{w_n\}$ be the bounded sequence in K. For a given $x_0 \in K$, let $\{x_n\}, \{y_n\}$, and $\{z_n\}$ be the sequence defined as in (5).

- (i) If $\liminf_n \alpha_n > 0$ and $0 < \liminf_n b_n \le \limsup_n (b_n + c_n + \mu_n) < 1$, then $\lim_n d(x_n, Tz_n) = 0$.
- (ii) If $0 < \liminf_n \alpha_n \le \limsup_n (\alpha_n + \beta_n + \lambda_n) < 1$, then $\lim_n d(x_n, Ty_n) = 0$.
- (iii) If $0 < \liminf_n b_n \le \limsup_n (b_n + c_n + \mu_n) < 1$ and $0 < \liminf_n \alpha_n \le \lim\sup_n (\alpha_n + \beta_n + \lambda_n) < 1$, then $\lim_n d(x_n, Tx_n) = 0$.

Proof. (i) It is well known that T has a fixed point $p \in K$ (see [5]). By lemma 3.1, we know that $\lim_n ||x_n - p||$ exists for any $p \in F(T)$, then it follows that $\{s_n - p\}, \{t_n - p\}, and\{r_n - p\}$ are all bounded and from the assumption we known that $\{u_n - p\}, \{v_n - p\}, \{w_n - p\}$ are all bounded. We may assume that these sequences belong to B_r where r > 0. Note that $T(p) = \{p\}$ for any fixed point $p \in F(T)$. By Lemma 2.2, we get

$$||z_{n} - p||^{2} \leq (1 - a_{n} - \gamma_{n})||x_{n} - p||^{2} + a_{n}||s_{n} - p||^{2} + \gamma_{n}||u_{n} - p||^{2}$$

$$-a_{n}(1 - a_{n} - \gamma_{n})g(||x_{n} - s_{n}||)$$

$$= (1 - a_{n} - \gamma_{n})||x_{n} - p||^{2} + a_{n}d(s_{n}, Tp)^{2} + \gamma_{n}||u_{n} - p||^{2}$$

$$-a_{n}(1 - a_{n} - \gamma_{n})g(||x_{n} - s_{n}||)$$

$$\leq (1 - a_{n} - \gamma_{n})||x_{n} - p||^{2} + a_{n}H(Tx_{n}, Tp)^{2} + \gamma_{n}||u_{n} - p||^{2}$$

$$-a_{n}(1 - a_{n} - \gamma_{n})g(||x_{n} - s_{n}||)$$

$$\leq (1 - \gamma_{n})||x_{n} - p||^{2} + \gamma_{n}||u_{n} - p||^{2} - a_{n}(1 - a_{n} - \gamma_{n})g(||x_{n} - s_{n}||),$$

$$\leq (1 - \gamma_{n})||x_{n} - p||^{2} + \gamma_{n}||u_{n} - p||^{2},$$

$$||y_{n} - p||^{2} \leq (1 - b_{n} - c_{n} - \mu_{n})||x_{n} - p||^{2} + b_{n}||t_{n} - p||^{2} + c_{n}||s_{n} - p||^{2}$$

$$+\mu_{n}||v_{n} - p||^{2} - b_{n}(1 - b_{n} - c_{n} - \mu_{n})g(||x_{n} - t_{n}||)$$

$$\leq (1 - b_{n} - c_{n} - \mu_{n})||x_{n} - p||^{2} + b_{n}H(Tz_{n}, Tp)^{2} + c_{n}H(Tx_{n}, Tp)^{2}$$

$$+\mu_n \|v_n - p\|^2 - b_n (1 - b_n - c_n - \mu_n) g(\|x_n - t_n\|)$$

$$\leq (1 - b_n - \mu_n) \|x_n - p\|^2 + b_n \|z_n - p\|^2$$

$$+\mu_n \|v_n - p\|^2 - b_n (1 - b_n - c_n - \mu_n) g(\|x_n - t_n\|),$$

and therefore we have

$$\begin{split} \|x_{n+1} - p\|^2 & \leq & (1 - \alpha_n - \beta_n - \lambda_n) \|x_n - p\|^2 + \alpha_n \|r_n - p\|^2 + \beta_n \|t_n - p\|^2 \\ & + \lambda_n \|w_n - p\|^2 - \alpha_n (1 - \alpha_n - \beta_n - \lambda_n) g(\|x_n - r_n\|) \\ & \leq & (1 - \alpha_n - \beta_n - \lambda_n) \|x_n - p\|^2 + \alpha_n H(Ty_n, Tp)^2 + \beta_n H(Tz_n, Tp)^2 \\ & + \lambda_n \|w_n - p\|^2 - \alpha_n (1 - \alpha_n - \beta_n - \lambda_n) g(\|x_n - r_n\|) \\ & \leq & (1 - \alpha_n - \beta_n - \lambda_n) \|x_n - p\|^2 + \alpha_n \|y_n - p\|^2 + \beta_n \|z_n - p\|^2 \\ & + \lambda_n \|w_n - p\|^2 - \alpha_n (1 - \alpha_n - \beta_n - \lambda_n) g(\|x_n - r_n\|) \\ & \leq & (1 - \alpha_n - \beta_n - \lambda_n) \|x_n - p\|^2 + \alpha_n \Big[(1 - b_n - \mu_n) \|x_n - p\|^2 \\ & + b_n \|z_n - p\|^2 + \mu_n \|v_n - p\|^2 - \alpha_n (1 - b_n - b_n - b_n) g(\|x_n - t_n\|) \Big] \\ & + \beta_n \|z_n - p\|^2 + \lambda_n \|w_n - p\|^2 - \alpha_n (1 - \alpha_n - \beta_n - \lambda_n) g(\|x_n - t_n\|) \Big] \\ & \leq & \|x_n - p\|^2 + [\alpha_n (1 - b_n - \mu_n) - \alpha_n - \beta_n - \lambda_n] \|x_n - p\|^2 \\ & & (\alpha_n b_n + \beta_n) [(1 - \gamma_n) \|x_n - p\|^2 + \gamma_n \|u_n - p\|^2] + \alpha_n \mu_n \|v_n - p\|^2 \\ & + \lambda_n \|w_n - p\|^2 - \alpha_n b_n (1 - b_n - c_n - \mu_n) g(\|x_n - t_n\|) \\ & - \alpha_n (1 - \alpha_n - \beta_n - \lambda_n) g(\|x_n - t_n\|) \\ & = & \|x_n - p\|^2 - (\alpha_n \mu_n + \lambda_n + \alpha_n b_n \gamma_n + \beta_n \gamma_n) \|x_n - p\|^2 \\ & + (\alpha_n b_n + \beta_n) \gamma_n \|u_n - p\|^2 + \alpha_n \mu_n \|v_n - p\|^2 + \lambda_n \|w_n - p\|^2 \\ & - \alpha_n b_n (1 - b_n - c_n - \mu_n) g(\|x_n - t_n\|) \\ & \leq & \|x_n - p\|^2 + (\alpha_n b_n + \beta_n) \gamma_n \|u_n - p\|^2 + \alpha_n \mu_n \|v_n - p\|^2 + \lambda_n \|w_n - p\|^2 \\ & - \alpha_n b_n (1 - b_n - c_n - \mu_n) g(\|x_n - t_n\|) \\ & \leq & \|x_n - p\|^2 + 2\gamma_n \|u_n - p\|^2 + \mu_n \|v_n - p\|^2 + \lambda_n \|w_n - p\|^2 \\ & - \alpha_n b_n (1 - b_n - c_n - \mu_n) g(\|x_n - t_n\|) \\ & \leq & \|x_n - p\|^2 + 2\gamma_n \|u_n - p\|^2 + \mu_n \|v_n - p\|^2 + \lambda_n \|w_n - p\|^2 \\ & - \alpha_n b_n (1 - b_n - c_n - \mu_n) g(\|x_n - t_n\|) . \end{aligned}$$

From the assumption we have

$$\alpha_n b_n (1 - b_n - c_n - \mu_n) g(\|x_n - t_n\|) \le \|x_n - p\|^2 - \|x_{n+1} - p\|^2 + S(\gamma_n + \mu_n + \lambda_n),$$
(9)

$$\alpha_n (1 - \alpha_n - \beta_n - \lambda_n) g(||x_n - r_n||) \le ||x_n - p||^2 - ||x_{n+1} - p||^2 + S(\gamma_n + \mu_n + \lambda_n),$$
(10)

where $S = \max\{\sup\{2\|u_n - p\|^2, n \geq 0\}, \sup\{\|v_n - p\|^2, n \geq 0\}, \sup\{\|w_n - p\|^2, n \geq 0\}\}$. In the sequence we prove the (i). If $\liminf_n \alpha_n > 0$ and $0 < \liminf_n b_n \leq \limsup_n (b_n + c_n + \mu_n) < 1$, then there exist a positive integer n_0 and $\nu, \eta, \theta \in (0, 1)$ such that

$$0 < \nu < \alpha_n$$
 and $0 < \eta < b_n$ and $b_n + c_n + \mu_n < \theta < 1$, for all $n > n_0$.

From (9) we get that

$$\nu \eta (1 - \theta) g(\|x_n - t_n\|) \le \|x_n - p\|^2 - \|x_{n+1} - p\|^2 + S(\gamma_n + \mu_n + \lambda_n)$$
(11)

for all $n \ge n_0$. It follows from (11) that for $m \ge n_0$,

$$\sum_{n=n_0}^{m} g(\|x_n - t_n\|) \leq \frac{1}{\nu \eta (1-\theta)} \left(\sum_{n=n_0}^{m} (\|x_n - p\|^2 - \|x_{n+1} - p\|^2) \right)$$

$$S \sum_{n=n_0}^{m} (\gamma_n + \mu_n + \lambda_n)$$

$$\leq \frac{1}{\nu \eta (1-\theta)} \left(\|x_{n_0} - p\|^2 + S \sum_{n=n_0}^{m} (\gamma_n + \mu_n + \lambda_n) \right).$$

Let $m \to \infty$ in above inequality we get that $\sum_{n=n_0}^{\infty} g(\|x_n - t_n\|) < \infty$ and hence $\lim_{n\to\infty} g(\|x_n - t_n\|) = 0$. Since g is strictly increasing and continuous at 0 with g(0) = 0, it follows that $\lim_{n\to\infty} \|x_n - t_n\| = 0$, therefore we have $0 \le \lim_{n\to\infty} d(x_n, Tz_n) \le \lim_{n\to\infty} \|x_n - t_n\| = 0$.

(ii) If $0 < \liminf_n \alpha_n \le \limsup_n (\alpha_n + \beta_n + \lambda_n) < 1$, then using a similar method, together with inequality (10), it can be shown that $\lim_n d(x_n, Ty_n) = 0$.

(iii) If $0 < \liminf_n b_n \le \limsup_n (b_n + c_n + \mu_n) < 1$ and $0 < \liminf_n \alpha_n \le \limsup_n (\alpha_n + \beta_n + \lambda_n) < 1$, by (i) and (ii) we have

$$\lim_{n \to \infty} ||x_n - t_n|| = 0 \text{ and } \lim_{n \to \infty} ||x_n - r_n|| = 0.$$
 (12)

From (5) we have

$$||y_n - x_n|| \le b_n ||x_n - t_n|| + c_n ||x_n - s_n|| + \mu_n ||x_n - v_n||.$$

Hence we have that

$$||s_{n} - x_{n}|| \leq ||s_{n} - r_{n}|| + ||r_{n} - x_{n}||$$

$$\leq H(Tx_{n}, Ty_{n}) + ||r_{n} - x_{n}||$$

$$\leq ||x_{n} - y_{n}|| + ||r_{n} - x_{n}||$$

$$\leq b_{n}||x_{n} - t_{n}|| + c_{n}||x_{n} - s_{n}|| + \mu_{n}||x_{n} - v_{n}|| + ||r_{n} - x_{n}||.$$

It follows that

$$(1 - c_n) \|s_n - x_n\| \le b_n \|x_n - t_n\| + \mu_n \|x_n - v_n\| + \|r_n - x_n\|$$
 (13)

from (12) and $\limsup_n c_n < 1$ we get $\lim_n ||s_n - x_n|| = 0$, hence $0 \le \lim_{n \to \infty} d(x_n, Tx_n) \le \lim_{n \to \infty} ||x_n - s_n|| = 0$.

Theorem 3.3 Let X, T and $\{x_n\}, \{y_n\}, \{z_n\}$ be the same as in Lemma 3.2, if K be a nonempty compact convex subset of a Banach space X and

- (i) If $0 < \liminf_n b_n \le \limsup_n (b_n + c_n + \mu_n) < 1$, and
- (ii) $0 < \liminf_n \alpha_n \le \limsup_n (\alpha_n + \beta_n + \lambda_n) < 1$,

then $\{x_n\}, \{y_n\}, \{z_n\}$ converges strongly to a fixed point of T.

Proof. By Lemma 3.2, we have $\lim_n d(x_n, Tx_n) = 0$. Since K be a nonempty compact convex subset, then there exist a subsequence $\{x_{n_k}\}$ of $\{x_n\}$ such that $\lim_{k\to\infty} ||x_{n_k}-q|| = 0$ for some $q \in K$. Thus,

$$d(q, Tq) \leq ||q - x_{n_k}|| + d(x_{n_k}, Tx_{n_k}) + H(Tx_{n_k}, Tq)$$

$$\leq 2||q - x_{n_k}|| + d(x_{n_k}, Tx_{n_k}) \to 0.$$

Hence q is a fixed point of T. From Lemma 3.1, now on take on q in place of p, we get that $\lim_{n\to\infty} ||x_n - q|| = 0$. From Lemma 3.2 we get that

$$||y_n - x_n|| \le b_n ||t_n - x_n|| + c_n ||s_n - x_n|| + \mu_n ||v_n - x_n|| \to 0 \text{ as } n \to \infty,$$

and

$$||z_n - x_n|| \le a_n ||x_n - s_n|| + \gamma_n ||x_n - u_n|| \to 0 \text{ as } n \to \infty,$$

it follows that $\lim_{n\to\infty} ||y_n-q|| = 0$ and $\lim_{n\to\infty} ||z_n-q|| = 0$. So the desired conclusion follows.

Theorem 3.4 Let X, T, K and $\{x_n\}, \{y_n\}, \{z_n\}$ be the same as in Lemma 3.2, if T satisfies Condition (A) with respect to the sequence $\{x_n\}$,

- (i) If $0 < \liminf_n b_n \le \limsup_n (b_n + c_n + \mu_n) < 1$, and
- (ii) $0 < \liminf_n \alpha_n \le \limsup_n (\alpha_n + \beta_n + \lambda_n) < 1$,

then $\{x_n\}, \{y_n\}, \{z_n\}$ converges strongly to a fixed point of T.

Proof. By Lemma 3.2, we have

$$\lim_{n} d(x_n, Tx_n) = 0.$$

Since T satisfies Condition (A) with respect to $\{x_n\}$. Then

$$f(d(x_n, F(T))) \le d(x_n, Tx_n) \to 0.$$

Thus we get $\lim_n d(x_n, F(T)) = 0$. The remainder of the proof is the same as Theorem 2.4 in [12] and Theorem 3.3, we omit it.

Theorem 3.5 Let X, T and $\{x_n\}, \{y_n\}, \{z_n\}$ be the same as in Lemma 3.2 and $T: K \to C(K)$. If K be a nonempty weakly compact convex subset of a Banach space X and X satisfies Opial's condition,

- (i) If $0 < \liminf_n b_n \le \limsup_n (b_n + c_n + \mu_n) < 1$, and
- (ii) $0 < \liminf_n \alpha_n \le \limsup_n (\alpha_n + \beta_n + \lambda_n) < 1$,

then $\{x_n\}$ converges weakly to a fixed point of T.

Proof. The proof of the Theorem is the same as Theorem 2.5 in [12], we omit it.

Remark. From iterative scheme (5), Theorem 3.3, Theorem 3.4 and Theorem 3.5 which generalized the results obtained by Song [12] and also give some new results are different from the results in [11]. Furthermore the above conclusions hold for iterative scheme (6), (7).

Acknowledgements

The author was partially supported by Natural Science Foundation of Chongqing Municipal Education Commission (No. KJ101108).

References

- [1] N.A. Assad and W.A. Kirk, Fixed point theorems for set-valued mappings of contractive type, *Pacific J. Math.*, 43 (1972), 553-562.
- [2] S. Ishikawa, Fixed points by a new iteration method, *Proc. Amer. Math. Soc.*, 44 (1974), 147-150.
- [3] W.A. Kirk, Transfinte methods in metric fixed point theory, *Abstract and Applied Analysis*, 5 (2003), 311-324.
- [4] T.C. Lim, Remarks on some fixed point theorems, *Proc. Amer. Math. Soc.*, 60 (1976), 179-182.

- [5] T.C. Lim, A fixed point theorem for multivalued nonexpansive mappings in a uniformly convex Banach space, *Bull. Amer. Math. Soc.*, 80 (1974), 1123-1126.
- [6] W.R. Mann, Mean value methods in iteration, *Proc. Amer. Math. Soc.*, 4 (1953), 506-510.
- [7] S.B. Nadler Jr, Multi-valued contraction mappings, *Pacific J. Math.*, 30 (1969), 475-487.
- [8] K. Nammanee, M.A. Noor and S. Suantai, Convergence criteria of modified Noor iterations with errors for asymptoically nonexpansive mappings, *J. Math. Anal.*, 314 (2006), 320-334.
- [9] Z. Opial, Weak convergence of the sequence of successive approximations for nonexpansive mappings, *Bull. Amer. Math. Soc.*, 73 (1967), 591-597.
- [10] H.F. Senter and W.G. Dotson, Approximating fixed points of nonexpansive mappings, *Proc. Amer. Math. Soc.*, 44 (1974), 375-380.
- [11] Y.S. Song and H.J. Wang, Erratum to Mann and Ishikawa iterative processes for multivalued mappings in Banach spaces, *Comput. Math. Appl.*, 55 (2008), 2999-3002.
- [12] Y.S. Song and H.J. Wang, Convergence of iterative algorithms for multivalued mappings in Banach spaces, *Nonlinear Anal.*, In Press.
- [13] K.K. Tan, H.K. Xu, Approximating fixed points of nonexpansive mapping by the Ishikawa iteration process, *J. Math. Anal. Appl.*, 178 (1993), 301-308.
- [14] H.K. Xu, Multivalued nonexpansive mappings in Banach spaces, *Nonlinear Anal.*, 43 (2001), 693-706.